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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. £2HIl SlEURL Ulctoll it .

Which error occurred if we use lead screw in C.N.C. machine?
ls 25 caruraedl 58 vl w8 2

Define adaptive control.

A3l 52l ofl cautval vl

List the types of machine tools maintenance.

Hellot 2 Hotold ol YUslR cAvl.

List the information to do process planning.

WRAY wello{lot sal 12 ol %33l Heldl dvll.

Why double nut is preferred instead of single nut balls crew?
Aot ole ofl ool A suet ol Al W atuRdl 8 ?
Write the difference between GO0 and GO01.

GO0 A GO1 AR oll AE AW

What you mean by preparatory code and miscellaneous code?
YlYedl sls ual HlAcllolln sl ol A g Auxau ?
Write the code to do coolant on and off.

G2 AR ol olu scl HI oll Sl AW,

Give the difference between g81 and g83.

G813l G83 dR oll AE AW

Draw the symbol of part zero, machine zero, reference zero.
uté 3, Hallot Y3, A ot A oll sl R

Give the difference between g98 and g99 using g83.
G98 Ul G99 cRA oll AE AU
OR

Differentiate between point to point and continuous motion control.

Weoe 2 o2 Wal §3lof Ll c oll Ae A,

Draw the structure of process planning.
WA wto(lot of itlrel €11,
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OR
List the criteria required for work holding device.

a¥ Yl ol ussl Avicle] Alal 3q 8lg SN ? Al
Selection criteria for C.N.C. machine.
AL Aot Al Hallot ol urieoll sal ol Yel Al

OR
Write the advantages of adaptive control.

A3l 52\ A oll SlRAEL AL
Explain the cutter compensation g-code.
822 slUlAet oll 5lS UHHLA.

OR
Write with its function any four g-code.

Sl URL UR G-51S Aol §52al WA Avll.

List down the tools required for C.N.C. maintenance.
LA Al ASoeolrt sall HI2 33 Ulet wRUA.

OR
Explain motion nomenclature for C.N.C. machine.

AL At A Hllol oll ARAsEUR UM
Definition and function of C.N.C. machine.
LA A Hollot ofl catvaul Ul Aol $52let AW,

OR
Write the disadvantage of C.N.C. machine.

{LAA A Hollotoll NRGLAEL AW,
Define D.N.C. system and its function.
SLAA Y flreuoll cautvanl Ul Aetl §59let AL

OR
Write the advantages of C.N.C machine.

YL Aot Hallotott LAEL AWl
Explain types of adaptive control.
AUl $2\A oll UslR vl unestal.

OR
List the daily checklist of C.N.C machine maintenance.

AL A ASRoiA U2 of A% of As Al AWl

Write the difference between Lathe and C.N.C. machine.

Al Aot Al Hollot WA AU AR ol AE AW

OR
Write concept and definition of N.C. machine.

A A A Hollot ol catvaal Ul Aell valle A

With neat sketch explain close loop and open loop control system.

SAY U Al Uel U Ayl e aslal.

OR
Write with its function any four M-code.

S1e5 URL AR M-51S Aol §52et U AL
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Explain mirror image with example.
H1R2 80 GEls0L UL YHLA.

List the problems related to mechanical systems.
3ellsdt W AsnAcll widll 20 cul.

Explain incremental and absolute programming method with example.

dglied ol AuAye WaHlol utudl qnesal.

Give the difference between milling machine and turning machine.

Hlcllor Hallot ual goflor Hellot R ol A v,
How to call subprogram explain with figure.
Aot Yol o {lget Youd HL 58 3 cllattal?aigdl ad quesal.
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